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CHAPTER 1

INTRODUCTION

In each area of topology, there are interesting spaces that many people are familiar.
In this paper, I will be presenting two such spaces that I took a personal interest in.

When I began my research, I was very new to the study of topology in general.
After a semester in my first topology course, I began my work by investigating some
basic ideas about different topological properties. From here I was given eight different
spaces to look into. All that was given to me was a list of eight sets and a base for each.
In the beginning I did not know what any of these spaces were called, or even know that
they had a name. What you are about to read are the conjectures and proofs that I
came up with for two of these spaces.

Many of the theorems that you will see were inspired by work I had done in classes
and from colloquia I have attended. During the research portion of my study, I assumed
the well known properties of the real line with the usual topology without proof. Other
than that, any ideas that I may have needed, I personally proved. For the sake of the
reader, many of the proofs of the easier facts have been left out.

Chapter 2 may be used as a reference chapter. In it the reader will find common
definitions and statements. Included with these will be proofs of theorems that will be
used throughout the other two chapters. Many of these came from the initial fundamental
research I did, along with general assignments given in different courses. I believe that

some of the ideas used in these proofs are interesting concepts in themselves.



In chapter 3, the reader will encounter a brief investigation of the Sorgenfrey topol-
ogy on the real line. For this space, I was forced to break away from the preconceived
notions that I had had about the real line and intervals in general. Even though many
properties are shared by the usual topology and the Sorgenfrey topology, I feel that the
interesting part is found when the two are contrasted.

The Lexicographic Order is the subject of chapter 4. I would say that out of the
eight spaces given to me, this one is my favorite. I began completely lost on any idea
as to what to do with this space. I struggled throughout my research to come to many
of the conclusions that are contained in this chapter, yet I feel that everything that I
learned has come together to describe this space.

As you read through this paper, I hope that you will find something that you enjoy

and maybe something that you find unfamiliar.



CHAPTER 2

FUNDAMENTAL DEFINITIONS AND THEOREMS

The following are definitions and proofs of statements which will be needed in other
parts of the paper. The first two theorems were given as homework problems in my

undergraduate level general topology course taught by Dr. Jo Heath.

Definition 2.1. A space X is said to be regular if for each x € X and each closed set,
M C X such that x & M, there exist disjoint open sets U and V such that x € U and

MCV.

Theorem 2.1. A space X is reqular if and only if for each x € X and U open in X

such that x € U, there exists V open in X such thatx € V CV CU.

Proof. Suppose X is a regular topological space. Let x € X and U be open in X such
that x € U. Then U® is a closed subset of X such that z ¢ U¢. Thus we can find Uy and
V open subsets of X such that x € Uy, U¢ C Vp, and Uy N Vg = 0. Let V = Uy. Then
reVCVCVFCU.

Now we must prove the reverse implication. So, suppose that for all x € X and U
open in X such that € U, there exists V open in X such that x € V C V C U. Let
x € X and M be a closed subset of X such that x & M. Then x € M€ and MF¢ is open,
which implies that there exists V open in X such that xt € V C V C M€ Let U = Ve

Then U, and V are open sets such that M CU,z € V,and UNV =V°NV = 0. O

Definition 2.2. Nonempty subsets A and B of a space X separate X if X = AUB
and ANB =BNA=10. A space is connected if there do not exist subsets A and B

which separate X.



Theorem 2.2. A space is not connected iff it contains a proper clopen subset.

Proof. Let X be a topological space. If we assume that X contains a proper clopen
subset, K, then K and K¢ are both nonempty clopen subsets of X. Also, X = K U K¢.
So K and K¢ separate X. Hence X is not connected.

Conversely, let’s assume that X is not connected. Then there exist A and B,
nonempty subsets of X such that X = AUB and ANB = () and BN A = (). Hence
X = AUB = AU B, which implies that B¢ = A. So B is open. Similarly, X = AUB

implies that B = B. Thus B is closed. Therefore B is a proper clopen subset of X. O

The next six theorems are just a few of the things that were proven during my
preliminary research. They give alternate definitions for some topological terms based
on basic open sets, and extend certain properties to subspaces. Let us first define a basis

for a space.

Definition 2.3. Let X be a set, and let B be a collection of subsets of X. Then B is

called a basts, or base, for X if B satisfies the following conditions.
1. B covers X (i.e., X =JB).

2. Whenever By N By # () for By, By € B, there exists B, € B for each x € By N By
such that x € B, C B1 N Bs.

If X is a topological space, then we need a third condition.

3. Each open set U can be written as a union of elements of B.
An element of B is called a basic open set.

Definition 2.4. A space is said to be zero-dimensional if it has a basis consisting of

clopen sets.



Theorem 2.3. A collection of open sets B is a base for a space X iff for each x € X

and for each open neighborhood U of x, there exists B, € B such that x € B, C U.

Proof. Let X be a topological space, and let B be a collection of open sets. Suppose
that B is a base for X. Let x € X, and let U be an open neighborhood of x. Then
U = U,e; Bi where B; € B for each i € I. So there exists i € I such that x € B;, and
B; CU.

Conversely, suppose that for each x € X and for each open neighborhood U of z,
there exists B, € B such that x € B, C U. Then obviously B covers X and for each
U open U = |J,cyy Bz- Now suppose that x € By N By for some By and By € B. Then
Bi1 N By is open which implies that there exists B, € B such that x € B, C B N Bo.

Therefore B is a base for X. ]

Definition 2.5. A space is called a Hausdorff space if for each pair of distinct points

x and y, there exist disjoint open sets U and V' such that x € U andy € V.

Theorem 2.4. A space X is a Hausdorff space iff for every pair of distinct points, x

and y € X, there exist disjoint basic open sets B, and B, such that x € B, andy € By.

Proof. Let X have a basis B, and let x and y € X be distinct. Suppose that X is a
Hausdorff space. Then there exist disjoint open sets U and V such that z € U and

y € V. We know that U = |J,c; B; and V = |J,.; Bj where B; and B; € B for each

j€J
© €1 and j € J. Thus there exists an ¢ € I and a j € J such that x € B; and y € B;.
Since U and V' are disjoint, B; and B; are also disjoint.

Now suppose that for every pair of distinct points, x and y € X, there exist disjoint

basic open sets B, and B, such that x € B, and y € B,. Since B, and B, are open, we

clearly have that X is a Hausdorff space. O



Definition 2.6. A space is compact provided that every open cover of the space has a
finite subcover. A space is LindelSf provided that every open cover of the space has a

countable subcover.

Theorem 2.5. A space X is compact (respectively Lindeldf) iff for every open cover, G,

consisting of basic open sets, there is a finite (respectively countable) subcover of G.

Proof. Let X have a basis B. Suppose X is compact, and let G be an open cover
consisting of basic open sets. Then by the definition of compact, there exists a finite
subcover of G.

Now suppose that for every open cover, G, consisting of basic open sets, there is
a finite subcover of G. Let H be an arbitrary open cover of X. Then for each z € X,
choose U, € H such that x € U,. Since B is a base for X, there exists B, € B such that
for each z € X, v € B, C U,. Let Gg = {B; : « € X}. Then there exists N € N such
that Gg = {B,, : n < N} is a subcover of Gg. Let G = {U,, : n < N}. Then G is a
subcover of G. Therefore X is compact.

This same proof can be used to show that a space is Lindelof with a few alterations.

O

When showing compactness, the following property is very useful.

Definition 2.7. A collection of sets, C, is said to have the finite intersection property

provided that every finite subcollection has nonempty intersection.

Theorem 2.6. A space X is compact iff every collection of closed subsets with the finite

intersection property has nonempty intersection.

Proof. Suppose that X is compact. Let C be a collection of closed subsets of X with

the finite intersection property. Suppose that (JCG = ). Define a collection G = {K*¢ :



K € C}. Notice that G is an open cover of X. Hence there exists n € N and some K¢,
., K¢ € G such that |J;, Kf = X. Thus ", K; = (Ji=1"K¢)¢ = (. This is a
contradiction because C has the finite intersection property.

Now conversely assume that every collection of closed subsets of X with the finite
intersection property has nonempty intersection. Let G be an open cover of X. Suppose
that it does not have a finite subcover. Define the collection C = {U¢ : U € G}. Then
C is a collection of closed subsets with the finite intersection property. So we have that

N C # 0. Thus JG = (N C)° # X, a contradiction since G covers X. O

Theorem 2.7. A sequence {x,}nen converges to a point x in a space X iff for each

basic open set B, containing x, By also contains x,, for all but finitely many n € N.

Proof. Let X be a space with a basis B. Suppose that the sequence {x,, }nen converges
to a point x € X. Then for every open set U such that x € U, x,, € U for all but finitely
many n € N. Thus obviously for each B, € B such that x € B,, x, € B, for all but
finitely many n € N.

Conversely, suppose that for each basic open set B, containing x, B, contains x,
for all but finitely many n € N. Let U be an open neighborhood of x. Then there exist
B, € B such that z € B, C U. So by the hypothesis, z, € B, C U for all but finitely

many n € N. Therefore {z,,},en converges to x. O

Definition 2.8. A function f: X — Y from a space X to a space Y is continuous if

FY(V) is open in X for every V open inY .

Theorem 2.8. Let f : X — Y be a function from a space X to a space Y. Then f is

continuous iff for each basic open set By CY, f~1(By) is open in X.



Proof. Let f: X — Y be a function from a space X to a space Y. Suppose that f is
continuous. Then obviously for each basic open set By C Y, f~!(By) is open in X.
Conversely, suppose that for each basic open set By C Y, f~1(By) is open in X.
Let V be open in Y. Then V = Uiel B; where B; is a basic open set in Y for each
i€l Then f~(V) = f~(U;e; Bi) = Uies 71 (B;) which is open in X. Therefore f is

continuous. O

Definition 2.9. A subspace of a space X is a subset A of X with the subspace topology,

T|4 defined by T|a ={UNA:U open in X}.

Definition 2.10. A property C is said to be hereditary provided that every subspace
has property C whenever the whole space has property C. A space is said to have a

property hereditarily, if every subspace has the property.
Theorem 2.9. The properties of reqularity and Hausdorff are hereditary.

Proof. Assume that X is a Hausdorff space and that A is a subspace of X. Let a and
b € A be distinct. Since A C X, there exist U and V disjoint open sets in X such that
acUandbeV. Les U=UnNAand V=V NA. Then U and V are disjoint open
subsets of A such that a € U and b € V. Therefore A is a Hausdorff space.

Now let X be regular, and let M be a nonempty closed subset of A. Let a € A
such that a ¢ M. Then notice that A\ M is open. So there exists U open in X such
that AAM =UNA. Then M = A\ (A\M)=AN(UNA)X=ANnU" Let K =U°"
Now notice M = K N A, K is closed in X, and a ¢ K. This implies that there exists
U and V disjoint open subsets of X such that ¢ € U and K C V. Let U=UnA
and V = VN A. Then U and V are disjoint open subsets of A such that a € U and

M=KNACVNA=V. Therefore A is regular. O



The next two theorems were very beneficial in looking into normality for the follow-
ing two chapters. They were introduced as homework in Dr. Gary Gruenhage’s course,

Set Theoretic Topology.

Lemma 2.1. Let K and M be disjoint subsets of a space X. Suppose there exist collec-

tions {Upy, : n € N} and {V,, : n € N} of open sets satisfying the following:
1. M CU,enUn and K C U, en Vas
2. for eachn € N, U, N K is empty; and,
3. for eachn € N, V,, N M is empty.

Then there exist disjoint open sets U and V' such that M C U and K C V.

Proof. Let K and M be disjoint subsets of a space X. Suppose there exist collections

{U, : n € N} and {V,, : n € N} of open sets satisfying the following:
L. M C UpenyUn and K C U, e Vi
2. for each n € N, U,, N K is empty; and,
3. for each n € N, V,, N M is empty.

Let U, = Uy \ (Uk<n Vi) and V, =V, \ (Uk<n Uy). Notice that for each n € N, U, and
V,, are open.

Now we claim that for each ¢ and j € N, (71 and YA/] are disjoint. Suppose that i = j.
Notice that (72 NV; is empty. Thus (71 N ‘A/Z is empty. Now suppose that ¢ < j and that
ﬁi N YA/j is nonempty. Then there exists a point x € (71 N 17} which implies that x € ﬁz

and x € 17J Thus = € U; and = & U;, a contradiction. Hence U;N XA/j is empty. Similarly

if ¢ > j, we have that 6@ N ‘A/] is empty.



Let U = U, ey Up and V = Unen V,,. By the preceding claim, U and V are disjoint

open sets. Since M C J,,cy Un, we have that M C U. Similarly, K C V. O

Definition 2.11. A space X is normal provided that for each pair of disjoint closed

sets H and K, there exist disjoint open sets U and V such that H CU and K C V.
Theorem 2.10. Every reqular Lindelof space is normal.

Proof. Assume that X is a regular Lindelof space. Let H and K be nonempty disjoint
closed subsets of X. Then for each h € H, there exists U, and V}, disjoint open subsets
of X such that h € Uy and K C V},. Notice that this implies that Uj, N K is empty. Now
{Un : h € H} is an open cover of H. So there exist h,, € H for each n € N such that

HCU Uy, - Recall that for each n € N, Uy, N K is empty.

neN

Similarly, we can find open sets V}, for some point k,, € K for each n € N such that
K C Upen Vi, and Vi, NH is empty. By Lemma 2.1, there exist U and V disjoint open

subsets of X such that H C U and K C V. Therefore X is normal. L]

We have finished proving the general statements that will be used throughout this

paper. Let us define a few more terms with which the reader may not be familiar.
Definition 2.12. A set is called degenerate if it contains only a single element.

Definition 2.13. A subset D of a space X is dense in X provided that D = X. In

other words, D is dense in X if for each open set U, U N X is nonempty.
Definition 2.14. A space is separable if it contains a countable dense subset.

Definition 2.15. Let X be a set. A function d: X x X — [0,00) is a metric provided

that for each z, y, and z € X

10



1. d(z,y) =0 iff v =y,
2. d(z,y) = d(y,x), and
8. d(z,2) < d(z,y) +d(y, 2).

Define an open ball centered at x with radius e, denoted B(x,e), as the collection of all
elements, y € X, such that d(z,y) < e. A space (X, T) is said to be metrizable if there
exists a metric on X which can be used to build a basis consisting of open balls which

generates T.

Definition 2.16. Let f : X — Y be a continuous bijection from a space X to a space
Y. Then f is called a homeomorphism if f~' is also continuous. We say that a space

X is homeomorphic to a space Y if there exists a homeomorphism f: X — Y.

Now that we have gotten familiar with a few terms and general theorems, let us

move on to our first space.

11



CHAPTER 3

THE SORGENFREY LINE

What would happen to the real line if we gave it a finer topology than the usual
topology? Would it lose any of its properties? Would it gain any? These are the
questions we will explore in this chapter.

Let S be the real line. Define a collection B by B = {(a,b] C S : a < b}. Notice that
this collection of intervals covers S. Also if we note that the intersection of two intervals
of the form (a,b] is another interval of that form or the empty set, then it is easy to
see that B is a basis for S. Let T be the topology generated by B. In other words, let
T be the collection of all unions of elements of B. We call the topological space (S, T)
the Sorgenfrey line. In particular, since the intervals are closed on the right, T is known
as the right Sorgenfrey topology. If instead we use intervals closed on the left, then it
would be called the left Sorgenfrey topology.

We will discover that (S,T) satisfies most of the separation properties. Let us first
show that this is a finer topology than the usual topology. For one topology, 71, to be

finer than another topology, o, we must show that 7 is a subset of 7.
Theorem 3.1. Any open interval in the usual topology on S is open in the Sorgenfrey
topology.

Proof. Let (a,b) be a nonempty subset of S. Then (a,b) = U,y (a,b — 2] is an element

neN

of T since it is a union of basic open sets. O

One of the bases for the usual topology is the collection of all open intervals in S.

By Theorem 3.1, each open interval is open in the Sorgenfrey topology, T'. So T is a

12



finer than the usual topology. What does this tell us? The properties of regularity and
of being a Hausdorff space are preserved by finer topologies. Thus (S,T) is a regular
Hausdorff space. Notice that a half closed interval such as (0, 1] cannot be written as
the union of open intervals. So the Sorgenfrey topology on S is strictly finer than the
usual topology.

We will now show that any dense subset of S with the usual topology, is also dense
in S with the Sorgenfrey topology. In particular, the rationals would be dense in (S, 7).

So this would imply that (S,T") is separable.

Theorem 3.2. Let D be a dense subset of S with the usual topology. Then D is dense

in S with the Sorgenfrey topology.

Proof. Let 7 denote the usual topology on S, and let D be dense in (S, 7). Choose an
arbitrary interval, (a,b] € B. Now take note that every basic open set (a,b] € B contains
the open interval (a, %F%). So since D is dense in (S,7), there exists an element of D

which we will call d € D N (a, “T‘H’) Hence d € (a,b] which implies that D N (a,b] is

nonempty. Therefore D is dense in (S,T). O

Next we will consider the countability properties. Obviously the two spaces share
the same cardinality, since their underlying sets are the same. What about the first and
second countability properties? We know that the usual topology has both properties.

How about the Sorgenfrey topology?
Theorem 3.3. (S,T) is first countable.

Proof. To show that the Sorgenfrey line is first countable, we must show that each point

has a countable local base. Suppose x € S. Let G, = {(p,z] : p < z, p € Q}. Then G, is

13



countable. Now we will show that GG is a local base at . Let U be an open neighborhood
of x. Then there is a basic open set, (a,b] € B such that z € (a,b] CU. Thusa <z <b
which gives us a p € Q such that a« < p < < b. Hence = € (p,z] C (a,b] C U and

(p,x] € Gy. O
Theorem 3.4. The Sorgenfrey line is not second countable.

Proof. Suppose that (S,T") is second countable. Then (S, T") has a countable basis which
we will call A. We will use the usual basic open sets with irrational endpoints to con-
tradict the fact that A is countable. Let V = {(x — 1,z] : x € Q°} C T. Since A is
a basis, for each x € Q° we can choose A, € A such that x € A, C (x — 1,z]. Let
A={A,:2€Q}C A

Now we will show that there exists an injective function from the irrationals to A.
Define a function f : Q¢ — A by f(z) = A,. Suppose that f is not injective. Then
there are points z, y € Q° such that x # y and f(x) = f(y). We may assume that
x < y. Notice that f(x) = f(y) implies that A, = A,, but < y implies that y & A,; a
contradiction since y € A,. Therefore f is injective.

Since there is an injective function from Q¢ to A and A C A, we have that |Q°| <

|A| < |A|. Thus A is uncountable, a contradiction. O

Interestingly enough, the Sorgenfrey line does not share the second countability
property with the usual topology. This will give rise to a very important difference
between the two spaces. The reals with the usual topology is a metric space. We will see
that the Sorgenfrey Line is not metrizable, using the fact that it is separable, but not

second countable. First we will show that a separable metric space is second countable.
Lemma 3.1. Fvery separable metric space is second countable.

14



Proof. Assume X is a separable metric space. Let d be a metric on X, and D be a
countable dense subset of X. Let B = {B(z,e) : z € X, e > 0} which is a basis for a
metric space, and let By = {B(x,e) : x € D, e € Q, e > 0}. Then By is countable, and
By C B. Now we will show that By is a basis for X. Let U be an open neighborhood of
x € X. Then there is a B(zg,eg) € B such that x € B(zg,e9) C U. Thus there exists
e1 > 0 such that B(z,e1) C B(xg,ep). Since D is dense in X, there is a p € D such that
pEB (a:, %) We know there is an e € Q such that § <e < %. Hence B(p,e) € By.

To show that By is a basis, we will show that € B(p, e) and that B(p,e) C U.

Claim 1: z € B(p,e)

d(p,z) =d(z,p) < G <e=z € B(p,e).

Claim 2: B(p,e) C B(z,e1)
Let y € B(p,e). Then d(p,y) < e, and
d(x,y) <d(z,p) +dlpy) <G +e< G+ =

Thus y € B(z,e1) = B(p,e) C B(x,e1).

So by claims 1 and 2, x € B(p,e) C B(x,e1) C B(zp,ep) C U. Hence By is a countable

basis for X, and this implies X is second countable. ]
Corollary 3.1. (S,T) is not metrizable.

Since (S, T) is not second countable, either it is not separable or it is not metrizable.
We have shown that it is separable, and thus it is nonmetrizable.
Now we will show an interesting property of the Sorgenfrey line, not shared with

the reals with the usual topology.

15



Lemma 3.2. (S,T) is zero-dimensional. In other words, (S,T) has a basis of clopen

sets.

Proof. We will show that the basis B is made up of clopen sets. Let (a,b] € B. Then
clearly (a,b] is open. We now will show that its complement is open. Notice that

(a,b]® = (—o0,a] U (b,00) = (U en(a — n,a]) U (U, en(b, b + n]) which is open. O

This can be a very useful property, because it would automatically give us regularity.
The natural thing to do now, would be to prove normality. Instead we will con-
sider uncountable subsets of the reals. This property and the resulting theorems were
introduced to me by Dr. Gary Gruenhage in a class on Set-Theoretic Topology. This
property uses the fact that the usual topology on the reals is second countable, and will

be advantageous to prove that (S,T') is hereditarily normal.

Lemma 3.3. If H is an uncountable subset of the reals, then there exists x € H such

that for each ¢ > 0, the intersection (x —e,z) N H is nonempty.

Proof. Let H be an uncountable subset of R. Suppose that for each x € H, there exists
gy > 0 such that (x —e,,2) N H is empty. Then for each € H we can choose a rational
number, p, € (x — &,, ). We will use this set of rational numbers to contradict the fact
that H is uncountable.

Let f: H — Q be defined by f(z) = p,. Suppose that f(xz) = f(y) for some x and
y € H. Then p, = py. So py € (x —ey,2) N (y — €y,y). Since neither interval meets
H,z ¢ (y—ey,y) and y & (x — €5, ). This gives us x = y. Thus f is injective, which

implies that |H| < |Q|, a contradiction. O
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Notice that by altering the proof slightly, we can also show that there exists a point,
y € H such that for each € > 0, the intersection (y,y + ¢) N H is also nonempty. This
will come in handy when we begin to discuss compactness.

Now Lemma 3.3 will give us the property of hereditarily Lindelof. It tells us that
even though we can’t find a countable basis for (5,7, we can at least find countable

subcovers for open covers anywhere in the space.
Theorem 3.5. The Sorgenfrey line is hereditarily Lindeldf.

Proof. Note that whenever we have a point € S, and an open neighborhood, U, of x,
we can find a basic open set of the form (b, z] € B such that (b,z] C U.

Let X be a subset of S. Now consider an open cover of X of the form, G =
{(bg,z] : x € X}. By the preceding remark, we can always find a collection of this form
where each element is contained in an element of our cover for any open cover. Let
M = {(bg,x) : (by,x) N X # 0}, and let K be the set of all elements of X that are not
covered by M.

We would like to show that K is countable. To do this let us first suppose that
K is not countable. Then we know that there exists y € K such that for each ¢ > 0,
(y —e,y) N K # 0 implying that (b,,y) N K # (. Hence there exists z € (by,y) N K,
which means that z € (by,y) N X since K C X. Then z is covered by M, which tells us
that it is not in K, a contradiction. Therefore K must be countable.

Notice that M covers X \ K in the usual topology on R. If we recall that the usual
topology is second countable and thus hereditarily Lindelof, then we see that M has a

countable subcover, M. Let G = {(bg, ] : (by,x) € ]\7} U {(by,y] : y € K}. Then G is
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the union of two countable subcollections of G which together covers all of X. Thus X

is Lindelof. O

We have shown that each subspace of (S,T') is both regular and Lindel6f which

implies that each is normal by theorem 2.10.

Corollary 3.2. (S,T) is hereditarily normal.

In the usual topology, every interval is connected and all closed bounded subsets are
compact. Since the Sorgenfrey topology is a finer topology on S, we have added more
open sets. This gives more opportunity for the subspaces to be disconnected. It also
lets us add more open sets to covers which gives the subspaces less of a chance to be
compact.

We will start by looking for non-trivial connected subspaces for (S,7"). The best

place to begin is naturally with the whole space itself.
Theorem 3.6. (S,T) is not connected.

This can easily be seen by considering any element of 5. Each element is a proper
clopen subset of S.

The next lemma will extend our use of the clopen basis to subspaces of (S,T).

Lemma 3.4. Let K be clopen in a space X and Y C X, then K NY is clopen in the

subspace topology on'Y .

Proof. Let X be a topological space, and let Y C X. Let K be a clopen subset of X.
Then K and K¢ are both open in X. Hence by the definition of subspace, K NY and

Y\ K = K°NY are both open in Y. Therefore K is clopen in Y. O
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Now that we know that the space (S, T) is not connected one may wonder if there is

any nontrivial connected subspaces of (S,T"). The next theorem answers this question.

Theorem 3.7. The only nonempty connected subspaces of the Sorgenfrey line are the

degenerate sets.

Proof. Let X be a nonempty subspace of (S,T"). If we suppose that X is degenerate,
then clearly X is connected. Suppose that X is nondegenerate. Then there exist distinct
points a and b € X. We may assume that a < b. By the preceding lemma, (a,b] N X is

a proper clopen subset of X. Thus X is not connected. O

Earlier we discussed briefly how a finer topology could affect the compact subsets
of a space. The next theorems deal with this issue. First we will consider the subsets of

S containing intervals.
Theorem 3.8. If X, a subset of S, contains an interval, then X is not compact.

Proof. Suppose that X is a subset of S which contains an interval. Then there exist
a and b € X such that [a,b] C X. Let C = {(a7(271—27W] :n € N}. Then C is a
collection of closed sets in the subspace X with the finite intersection property. Notice

that (C = 0. Hence X is not compact. O

Already with this one theorem we have shown that many of the compact subspaces
of S with the usual topology are not compact with the Sorgenfrey topology. This even

excludes the space itself from being compact since it contains the interval (0, 1).
Corollary 3.3. (S,T) is not compact.

Obviously any finite subset of (S, T) is compact, but are there others? We will look

into unbounded subsets, and then we will take a look at uncountable subsets.
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Theorem 3.9. Unbounded subsets of S are not compact.

Proof. Let X be an unbounded subset of (S,7T"). Suppose that X is compact. Let
G = {(-n,n] : n € N}. Notice that G is an open cover of S, and thus it is an open
cover of X. Then G has a finite subcover of X. So there exists an N € N such that
{(=ni,n;] i < N} covers X.

Let M = max{n; : t < N}. Then X C J;<n(—ns,n;] = (=M, M]. So this shows

that X is bounded by M and —M, a contradiction. Therefore X cannot be compact. [

To deal with uncountable subsets, we will use some earlier theorems. In particular,
we will use the fact that a space X is compact if and only if for each collection of closed
subsets of X with the finite intersection property, C, the intersection (| C' is nonempty.

The reader can find the proof of this statement in Cchapter 2.
Theorem 3.10. Uncountable subsets of S are not compact.

Proof. Let X be an uncountable subset of S. We may assume that X does not contain
an interval by Theorem 3.9. By Lemma 3.3, there exists a point in X such that for each
e > 0, the intersection X N (z,x + ), is nonempty. Let C = {(z,x +¢]N X : e > 0}.
Notice that since the subsets in C are nested and nonempty, this collection has the finite
intersection property. By Lemmas 3.2 and 3.4 , C is a collection of closed sets in X. If

we look at (| C, we realize that this intersection is empty. Hence X is not compact. [

So far we only have the trivially compact subsets. By now one may be thinking that
this is all there is. Surprisingly enough, it’s not. Let us digress to look at convergent
sequences. Once we show the existence of a nontrivial convergent sequence, we will use

it to find an infinite compact subset of the Sorgenfrey line.
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Theorem 3.11. If {z,}nen s a sequence converging to some x € R with the usual

topology, and for all but finitely many n, x, < x, then {x,}nen converges to x in (S,T).

Proof. Let T be the usual topology on S. Let {z,},en be a sequence in S which is
convergent to some point x in (S, 7). Suppose this sequence also satisfies the condition
that for all but finitely many n, z, < x. Now let us show that {x,},en converges to
x in (S,T). Let U be an open neighborhood of x in (S,7"). Then there exists a basic
open set (a,b] C U such that x € (a,b]. Since {zy},en converges to x in (S,7), there
exists Ny € N such that z,, € (a,b) C (a,b] for all n > N;. Now notice that there exists
Ny € N such that z,, <z for all n > N,. So we have that z,, € (a,z] C (a,b] C U for all

n > N1 + Na. Thus {z, },en converges to z in (S, T). O

_n_

T ey Converge. Now that we have convergent

Now we know that sequences such as

sequences, let’s see how we can use it.

Theorem 3.12. If {x,}nen converges to x in (S,T) from the left then {x,}nen U {z}

is a compact subspace of (S,T).

Proof. Let {xy,}nen converge to a point z in (S, T) from the left. Let X = {z,, }henU{z}.
Suppose that G is an open cover of X. Then there exists U € G which is an open
neighborhood of z. Since {z,},en converges to x, we have that for some N € N, the
points, x, € U for all n > N. Since G covers X, there exists U, an open neighborhood
of z,, for each n < N. Let G = {U, : n < N}U{U}. Then G is an open cover of X.

Therefore X is compact. O

That will conclude our study of the Sorgenfrey line. In summary, by taking a basis

which adds an endpoint to the open intervals in R, we have altered the usual topology
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on the reals into a much finer space, the Sorgenfrey line. Even though many of the
nicer qualities of the usual topology have been lost such as metrizability, the Sorgenfrey

topology does share some properties of the usual topology, while gaining a few more.
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CHAPTER 4

THE LEXICOGRAPHIC ORDER ON R x [0, 1]

To organize our papers and files, we normally alphabetize them. In other words, we
order them by the first letter in the name, and then by the consecutive letters. This is
a very common order that can be extended to coordinate systems. Let us define a set
L =R x [0,1]. Elements of this set are expressed as ordered pairs. It is now natural to
order the first coordinates and then the second coordinates. So define an order “ < ” on
L by (z,2") < (y,y’) provided that either x < y or, x = y and 2’ < ¢/. This is called the
lezicographic order on L. Clearly this is a linear order on L.

We can now use this ordering to construct “open intervals.” Define ((a,d’), (b,b))
for (a,d’), (b,0') € L as the set of points, {(x,2’) € L : (a,a’) < (x,2’) < (b,b")} where
(a,a’) < (b,1'). Notice that the intersection of two open intervals is either another open
interval or the empty set. Thus if we let B be the collection of all open intervals on L,
then it is easy to see that B is a basis for L. Let R be the topology generated by B.

We start by showing that L is a Hausdorff space.
Theorem 4.1. (L, R) is a Hausdorff space.

Proof. Let (a,a’), and (b,b') be two distinct points in L. We may assume that (a,a’) <

(b,b"). Then either a < b, or a = b and o’ < ¥V'.

Case 1: Suppose a < b. Since a, b € R there exists ¢ € R such that a < ¢ < b. Let
U= ((a—1,d),(c,d")) and V = ((¢,d’),(b+ 1,b')). Then U and V are open,

(a,d") e U, (b,b)eV,and UNV = 0.
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Case 2: Suppose a = b. Then o’ < V. Since ¢/, V' € [0,1] and [0, 1] C R, there exists ¢’ €
[0,1] such that ' < ¢ < V. Let U = ((a—1,d'),(a,c)) and V = ((b, ), (b+1,V")).

Then, again, U and V are open, (a,a’) € U, (b)) € V,and UNV = 0.
Therefore (L, R) is a Hausdorff space. O]

We prove regularity using the definition of a regular space. Let H° denotes the

interior of H which is an open set.
Theorem 4.2. (L, R) is a reqular space.

Proof. Let M be a closed subset of L, and let (z,2z") € L such that (z,z’) ¢ M. Then
Mc¢ is open and (z,2') € M€ implies that there exists a basic open set ((a,a’), (b, b))
such that (z,2’) € ((a,d’),(b,b")) C M€. Then there exists (¢, '), (d,d") € L such that
(a,ad") < (¢,d) < (z,2) < (d,d') < (bV). Let U = ((¢, ), (d,d")) and V = (U°)°. Then
U and V are open, (z,2') € U, M C ((a,d’),(b,0)) C (U°)° =V,and UNV = 0.

Hence (L, R) is regular. O

Now it is easy to see that L is uncountable, but is it separable, first countable, or
second countable? We will first show that the space L is not separable. From this it will
easily follow that the space is not second countable, since if it were, we could construct a

countable dense set by choosing a point from each basic open set in the countable basis.
Theorem 4.3. (L, R) is not separable.

Proof. Suppose (L, R) is separable. Then there is a dense countable subset of L. Let
D = {(zy,yn) : n € N} be this subset. Now we will construct an open set which does

not intersect D. Since R is uncountable, we may choose x € L such that z ¢ {z, :
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n € N}. Then for each n € N, (2, yn) ¢ ((x,0),(x,1)). Hence D is not dense in L, a

contradiction. Therefore (L, R) is not separable. O
Corollary 4.1. (L, R) is not second countable.

Even though we cannot find a countable basis for the whole space, we will prove
that we can find a countable local basis at each point. This proves that (L, R) is first

countable.
Theorem 4.4. (L, R) is first countable.

Proof. Let (a,a’) € L. Then either a’ € (0,1), @’ =1, or a’ = 0. For each point in each

case we will construct a countable local base.

Case 1: Suppose a’ € (0,1). Let G,y = {((a,p),(a,q)) : p, ¢ € QN [0,1] and p <
a’ < q}. Let U be an open neighborhood of (a,a’). Then there is a basic open
set, ((b,b), (¢c,c)) such that (a,a’) € ((b,V'),(c,)) C U. Notice that there exists
p and ¢ € QN [0,1] such that (b,0') < (a,p) < (a,d’) < (a,q) < (¢,c). Then
((a,p), (a,q)) is an element of G, 4/, a subset of U, and it contains (a,a’). Hence

Gq,a) is @ local base of (a,a’).

Case 2: Suppose a’ = 0. Let G0y = {((p,0),(a,¢)) :p € Qand ¢ € QN (0,1] and p <
a} Again, let U € T such that (a,0) € U. Then there is a basic open set,
(b, V'), (¢,c)) such that (a,0) € ((b,V'),(c,c)) € U. Notice that there exists p
and ¢ € QN [0,1] such that (b,0) < (p,0) < (a,d') < (a,q) < (¢,). Then
((»,0), (a,q)) is an element of G4 4), is a subset of U, and it contains (a,0). Hence

G (4,07 1s a local base of (a,0).
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Case 3: Now we are left with the case when @’ = 1. We will construct a countable local
base for (a,a’) in much the same way as in Case 2. Let G, 1) = {((a,p), (¢,1)) :
peQn[0,1) and ¢ € Q and ¢ > a}. Again, let U € T such that (a,1) € U. Then
there is a basic open set ((b,b), (¢,c’)) such that (a,1) € ((b,V'),(¢c,)) CU. In
much the same way as before, there is an element of G/, ;) which contains (a, 1)

and is a subset of ((b,V'), (¢c,c’)). Thus G4 is a local base for (a, 1).

Therefore there is a local countable base at each point, which implies that (L, R) is first

countable. O

The following theorems deal with specific subspaces and convergent sequences of
(L,R). We wish to categorize the subspaces we mention. To do this we will find a

homeomorphism between the subspace and a familiar space.

Theorem 4.5. Let x € R. Then [(z,0), (x,1)] with the subspace topology is homeomor-

phic to [0, 1] with the usual topology.

Proof. Let X = [(x,0), (z,1)] for some x € R, and let T'|x be the subspace topology on
X. Let [0,1] have the usual topology. Define a function f : X — [0,1] by f((z,2')) = 2
for each (z,2’) € X. Then it is easy to see that f is a well defined function which is also
a bijection. Now we need to show that f is a homeomorphism.

First we will prove that f is continuous by using Theorem 5 in the Chapter 2. This
means that we need to show that the preimage of a basic open set is open. Choose A
to be a basic open set in [0,1]. Then A = (a,b) N [0,1] for some a, b € R. Notice that

FYA) = ((z,a), (x,b)) N X which is open in X. Hence f is continuous.
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Now we need to show that f~1 is continuous. Let V = ((a,a’), (b,¥)) N X for some
(a,a’), (b,b') € L. Then we have one of four situations; either V = ((z,d’), (z,b)), or

V =[(,0),(z,V)), or V = ((x,d’), (z,1)], or V = X.
Case 1: Assume V = ((z,d'), (z,0’)). Then f(V) = (a’,¥") which is open in [0, 1].

Case 2: Assume V = ([(z,0), (z,V’)). Then f(V) =1[0,b') = (=V',') N Y which is open

in [0, 1].

Case 3: Assume V = ((z,d), (z,1)]. Then f(V) = (d/,1] = (d’,a’ + 1) N[0, 1] which is

open in [0, 1].

Case 4: Assume V = X. Since f is a bijection, f(V) = f(X) is [0,1] which is definitely

open.

Hence f~! is continuous. Therefore X is homeomorphic to [0,1] with the usual topology.

O

Now we have seen what a projection onto the second coordinate looks like, for any
fixed first coordinate. What does a projection onto the first coordinate look like? We

will see that it depends on which second coordinate we fix.
Theorem 4.6. For any y € [0,1] let Ky = R x {y}, with the subspace topology.
1. Ify € (0,1), then K, is homeomorphic to the reals with the discrete topology.
2. If y =0, then Ky is homeomorphic to the reals with the Right Sorgenfrey topology.

3. If y =1, then K is homeomorphic to the reals with the Left Sorgenfrey topology.
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Proof. Let y € [0,1], and let Ky = R x {y}. Define f : K, — R by f((x,y)) = « for each
(x,y) € Ky. Then it is obvious that f is a well-defined bijection. We will go on to show
that when we change the value of y and put the corresponding topology on the reals, f
is a homeomorphism.

Lets begin by assuming that y € (0,1) and that R has the discrete topology. Then
obviously f~! is continuous since R is discrete. Thus for this case, we only need to show
that f is continuous.

Let U be a basic open set in R. Then U = {z} for some z € R. So f~}(U) =
{(z,9)} = ((z,0),(x,1)) N K, which is open. Hence f is continuous. Therefore K, is
homeomorphic to the reals with the discrete topology.

Now suppose that y = 0. Let Tr denote the Right Sorgenfrey topology on R. So
we need to show that f and its inverse are both continuous. Let (a,b] C R be a basic
open set in (R,Tg). Then f~*((a,b]) = (a,b] x {0} = ((a,1),(b,1)) N Ko which is open
in Ky. Hence f is continuous.

Next let A be a basic open set in Ky. Then A = ((a,d’), (b, V")) N Ky for some
((a,d’),(b,V')) € B which impies that either a = (a,b) x {0} or, in the case that & = 0,
A = (a,b) x {0}. Then f(A) = (a,b] € Tr or f(A) = (a,b) € Tg since T is finer than
the usual topology on the reals. Hence f~! is continuous, and so f is a homeomorphism
between Ky and R with the Right Sorgenfrey topology.

If we let y = 1 and give R the Left Sorgenfrey topology, then it is easy to see that f
is a homeomorphism between K; and R with the Left Sorgenfrey topology by using an

argument similar to the y = 0 case. O
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We will now discuss how a few interesting sequences converge to some very unex-

pected points.
Theorem 4.7. Let x € R, y € [0,1], and let {(zn,yn)}nen be a sequence in L.

1. If {yn}nen converges to y in the usual topology on [0,1] and x, = x for all but

finitely many n € N, then {(2n,yn) }nen converges to (z,y) in L.

2. If {xp}nen converges to x in the usual topology and x,, < x for all but finitely many

n € N, then {(zn,Yn) tnen converges to (z,0) in L.

3. If{xp}nen converges to x in the usual topology and x,, > x for all but finitely many

n €N, then {(zn, yn) tnen converges to (x,1) in L.

Proof. Let x € R, y € [0,1], and let {(x,, yn) }nen be a sequence in L.

Case 1: Suppose y, — y in the usual topology on [0, 1] and z,, = = for all but finitely
many n € N. Let U be an open neighborhood of (x,y), and let X = [(z,0), (z,1)].
Then U N X is a nonempty open neighborhood of (z,y) in X. Now, by the hy-
pothesis, (,,y,) € X for all but finitely many n € N. Since y, — y in the usual
topology on [0, 1] and X is homeomorphic to [0, 1], {(xn, Yn) }nen converges to (z,y)
in X. Then (zn,yn) € UN X for all but finitely many n € N which implies that
(Zn,yn) € U for all but finitely many n € N. Hence the sequence {(zn,¥yn)}nen

converges to (z,y) in L.

Case 2: Assume that z € R, and {(2n,yn)}nen C L such that {x,},en converges to
x in the usual topology on R and x, < z for all but finitely many n € N. Let
((a,a’), (b,b")) be a basic open set in (L, R) such that (z,0) € ((a,d’), (b,b")). Then

(a,a") < (z,0) < (b,0'). Thus either a <z < bora <z =Vb.
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Suppose that a < < b. Then = € (a,b), and this implies that z,, € (a,b) for all
but finitely many n € N. Thus (z,,y,) € ((a,d’), (b,b")) for all but finitely many

n € N.

Now suppose that a < x = b. Then = € (a,b] which implies that z € (a,b+ 1).
Hence there exist N1 € N such that z,, € (a,b+ 1) for all n > Nj. Since z, < z
for all n > Ny for some Ny € N, z,, € (a,b) for all n > Ny + Ny. Hence (x,,y,) €

((a,a’), (b,0)) for all n > Ny + Na. Therefore (zp,yn) — (x,0).

Case 3: Suppose that {x,},en converges to z in the usual topology and z,, > x for

all but finitely many n € N. Then similarly to Case 2, {(zn, yn) }nen converges to

(x,1).
O

This idea of using the subspaces to prove properties about L is not isolated to
showing sequence convergence. We will use this idea to show that L is a Lindelof space.

Then using Theorem 2.10, we have that L is normal as a corollary.
Theorem 4.8. (L, R) is Lindeldf.

Proof. Let G be an open cover of L consisting of basic open sets. Then G is an open
cover of Ky = R x {0} with the subspace topology. Since Ky is homeomorphic to the
right Sorgenfrey topology on the reals, by Theorem 3.6, G has a countable subcover of
Ky. Let Go = {((an,al,), (b, b)) : n € N} be such a countable subcover of Ky. Let Ay
be the collection of first coordinates of both endpoints of each interval in Gy. In other

words, let Ag = {a, : n € N} U {b, : n € N}. Notice that G¢ covers A§ x [0, 1], and that

Ay is countable.
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We can use a similar argument to find a countable subcover G of K1 = R x {1}.
Let Ay be the collecton of first coordinates of both endpoints of each interval in Gj.
Again notice that G covers A§ x [0,1]. Also Gy U G covers (Ag N A1) x [0,1]. Note
that so far we have a countable subcover of all but those points with first coordinates in
the countable set A1 N Ay.

Now let a € Ap N A;. Then X, = [(a,0),(a,1)] is homeomorphic to the closed
interval [0, 1] with the usual topology. Hence for each a € Ag N Ay, G has a countable
subcover, G, of X,.

Let G = GoUG1 U (L_JaerﬁA1 Gg). Then obviously G C G. Notice that Go and G4
are countable. Also Ag N A; is countable and, for each a € Ay N A1, G, is countable.
Thus we have that G is a countable union of countable collections. Now to show that G
is a cover of L, consider the fact that L = ((Ap N A1) x [0,1]) U ((Ap N A1)¢ x [0,1]) =

(Uaeagna, UGa)UUGo)U(UG1) =U G. Hence G is a countable subcover of G. [
Corollary 4.2. The space L is normal.

Let us now look a little closer at our underlying set, L. To show that our space is
connected and that certain subsets are compact, it would help to have the least upper

bound property for L.
Lemma 4.1. Bounded subsets of L have the least upper bound property.

Proof. Let X be a bounded subset of L. Then there exist points (a,a’), (b,0') € L such
that for each point (z,2') € X, (a,d’) < (z,2') < (b,V'). So if we let E = {z : (z,2') €
X}, or in other words let E be the set of all first coordinates of points in X, then E is
bounded on the real line by a and b. Thus E has a least upper bound which we will call

C.
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Suppose that ¢ € E. Then X N (¢, 0), (¢,1)] has a least upper bound, (¢, '), since
[(¢,0),(¢,1)] is homeomorphic to the closed interval [0,1]. Now we claim that in this
case, (¢, ) is the least upper bound of X. Let (z,2') € X. Then either x < c or z = ¢
and 2’ < /. Either way (z,2’) < (¢,¢’). Now suppose that (d,d’) is an upper bound of
X. Then either ¢ < d or d = ¢ and ¢ < d'. Thus (¢,d) < (d,d"). Hence (c,c’) is the
least upper bound of X.

Now suppose that ¢ € E. Then for each (z,2') € X, 2 < ¢. We claim that in this
case (¢, 0) is the least upper bound of X. First of all, for each (z,2’) € X, x < ¢ implies
that (x,2’) < (¢,0). Suppose (d,d’) is an upper bound of X. Then either ¢ < d or ¢ = d.
If ¢ < d, then obviously (¢,0) < (d,d’). If d = ¢, then 0 < d’ and (¢,0) < (d,d’). So (c,0)

is the least upper bound of X. ]

Earlier we described an open interval by the subset ((a,a’), (b,b")) = {(¢,) € L :
(a,a') < (¢,d) < (b,b')}. This is very similar to the definition of an open interval on
the real line. The open interval, (a,b), on the real line is the set, {c € R: a < ¢ < b}.
In any linearly ordered space, this is the form of an open interval. When we talk about
any interval, we are talking about subsets of a linearly ordered set with the same form
as intervals on the real line.

So how does the least upper bound property help us? It is an important element in

showing that intervals are connected.
Theorem 4.9. Fvery interval in L is connected.

Proof. Let I be an interval in L. Suppose that I is not connected. Then there exist
nonempty disjoint open sets, U and V such that I = U U V. Hence there exist elements

(a,a’), (b,b') € I such that (a,a’) € U and (b,0') € V. Without loss of generality we
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will assume that (a,a’) < (b,8'). Let U = UN[(a,d’), (b)) and V = V N [(a,d’), (b, ).
Notice that U and V are open subsets of [(a,d’), (b,b')] that separate [(a,a’), (b, V)]

Now we will find a point of [(a,d’), (b, V)] that is in neither U nor V. Let (¢, ) be
the least upper bound of U. Then (¢c,d) > (z,2") for each (z,2') € U and for any upper
bound, (y,y) of U, (¢,¢) < (y,4). Since (a,a’) € U and (b, V) is an upper bound on U,
we have that (¢, ) € [(a,d’), (b,V')].

Suppose that (¢,’) € U. Then there is some basic open set By such that (c,c’) €
By N [(a,d), (b,¥)]. Since (b,1) & U, we know that By N [(a,d’), (b, V)] is either of the
form ((d,d’), (e, €’)) for some (d,d’), (e, €’) € [(a,a’), (b,V')] or of the form [(a,d’), (e,€"))
for some (e, €’) € ((a,ad’), (b,V')]. Either way ((¢,c), (e,€e')) C By N|(a,d’), (b,V')]. How-
ever we know that there is a point (z,2’) such that (¢, ') < (z,2) < (e, €’) which implies
that (z,2') € U, a contradiction since (c, ¢) is the least upper bound. Hence (c,¢’) & U.

So (¢,c’) must be in V. Again there is a basic open set By such that (c,¢) €
By n(a,a’), (b,b)], but this time By N|[(a,d’), (b,1')] is either of the form ((d,d’), (e, €’))
for some (d,d’), (e,e') € [(a,ad),(b,b")] or of the form ((d,d’), (b,¥')] for some (d,d’) €
[(a,ad),(b,b)). Thus ((d,d'),(c,d)) € By N [(a,d),(bV)], yet there exists a point
(z,2") € ((d,d),(c,c')) which is not in U. This makes (z,2') an upper bound on U
which is less than (¢, '), a contradiction.

So we have that (c,) ¢ U UV meaning that [(a,d’), (b,')] is not separated by U

and V. Therefore I must be connected. O

If we recall that any union of connected sets with nonempty intersection is also

connected, then we get the following corollary.

Corollary 4.3. (L, R) is connected.
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Proof. Let G = {((—n,0),(n,1)) : n € N}. Then G is a collection of connected sets, and

NG = ((—1,0),(1,1)) which is obviously nonempty. So |JG = L is connected. O
Are there any more connected subsets of L7 We will next show that there are not.

Theorem 4.10. If X is a proper nondegenerate subset of L which is not an interval,

then X is not connected.

Proof. Let X be a proper subset of L. Suppose that X is not an interval. Then there
are points (a,a’), (b,b') € X and (¢,c/) € X such that (a,d') < (¢,d) < (b,1). Let
U= (Upen((a=n,d),(c,d))) N X = (=00, (c,d)) N X, and let V' = (U, en((c, ), (b +
n,0)))NX = ((¢,d),00) N X. Then U and V are nonempty disjoint open subsets of X

such that X =UNV. O

It may have been apparent that the arguments for connectedness worked in much
the same way as they work for the real line with the usual topology. We will now see

that the same holds for compact subsets of L.
Theorem 4.11. Unbounded subsets of L are not compact.

Proof. Let X be an unbounded subset of L. Suppose that X is compact. Let G =
{((=n,0),(n,1)) : n € N}. Then G is an open cover of X. Since we assume that X is
compact, there exists N € N such that Gy = {((—ni,0), (n;,1)) : i < N} is a subcover
of L. Then X C |JGn. Let m = max{n; : ¢ < N}. Then X is bounded by (—m,0) and

(m, 1), a contradiction. Therefore X is not compact. O

We know that L itself is unbounded, so it is clear to see that L is not compact.
What type of subsets are compact? If we keep with the idea that the compact

subsets of L resemble the compact subsets of R with the usual topology, then why don’t
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we look into closed bounded subsets of L7 Lets first show that closed intervals are
compact.
The following proof was inspired by a proof that the interval [0, 1] is compact in the

usual topology on R by Dr. John O’Connor [2].
Theorem 4.12. If X is a closed interval in L, then X is compact.

Proof. Let X = [(a,d’), (b,b)’] for some (a,a’), (b,b") € L. Let G be an open cover of X
consisting of basic open sets. Let

X = {(z,2') € X : [(a,d), (z,2')] can be covered by finitely many elements of G}. Let
(¢,c’) be the least upper bound of X.

We claim that (¢, ') = (b,b"). Suppose that (¢,c’) < (b,b"). Then there exists
((d,d"),(e,€e')) € G such that (¢,c) € ((d,d), (e, €')). Choose (y,y') € ((d,d), (¢c,c)).
Then (y,3') must be a point in X. So there exists a finite subcover G of [(a,d’), (y,y')].
Now choose (z,2') € ((¢c,c),(e,€')). Then G U {((d,d), (e,€'))} is a finite subcover of
[(a,d’), (z,2')] which implies that (z,z') € X. However since (c,¢') is an upper bound
on X and (c,c) < (2,2'), we have that (z,2') & X, a contradiction. Also, (c,d) % (b,b')
because (b, ') is an upper bound on X. Hence (c, ) = (b, V).

Now choose ((d,d'), (e,€')) € G such that (b,b') € ((d,d'), (e,€')). Then we know that
(d,d’) € X by the prior claim. So there exists a finite subcover, Gg, of [(a,a’), (d, d')]. No-
tice that GyU((d, d'), (e, €’)) is a finite subcover of [(a, a’), (b,b")]. Therefore [(a,a’), (b,b)]

is compact. [
We can now expand this idea to bounded closed subsets of L.

Corollary 4.4. Every bounded closed subset of L is compact.
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Proof. Let X be a closed subset of L, and let X be bounded by (a,a’), (b,b') € L.
By Theorem 4.12,[(a,a’), (b,V')] is compact. Since X is closed in L, X is closed in

[(a,d’), (b,b")]. Now recall that closed subsets of a compact space are compact. O

Since we have shown that L is a Hausdorff space, every compact subset of L must
be closed, and by Theorem 4.11, it must be bounded. So these are the only compact

subsets of L.

This will conclude our exploration of the Lexicographic order on R x [0, 1], and in

essence this paper.

36



BIBLIOGRAPHY

[1] Herbert S. Gaskill and P. P. Narayanaswani, “Elements of Real Analysis,” Prentice
Hall, 1998.

[2] John O’Connor, “Lecture Notes for MT4522,” http://www-history.mcs.st-
and.ac.uk/ john/MT4522/Lectures/L21.html, 2004.

37



